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SECTION A 

QUESTION ANSWER MARKS 

1 B [2] 

2 D [2] 

3 C [2] 

4 A [2] 

5 C [2] 

6 A [2] 

7 B [2] 

8 A [2] 

9 B [2] 

10 A [2] 

11 D [2] 

12 C [2] 

13 B [2] 

14 D [2] 

15 A [2] 

16 C [2] 

17 B [2] 

18 A [2] 

19 D [2] 

20 C [2] 

Total  40 

 

 

 

 

  



3 
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SECTION B 

QUESTION ANSWER MARKS COMMENT 

 

21 

 

(a)     M = 12 

    N = 21 

 

(b)     1000 ÷ 100 oe 

    10 

 

(c)      
18

7
 

 

(d)      4 

 

(e)     6 

 

 

B1 

B1 

M1 

A1 

 

B2 

 

 

B1 

 

B1 

                  

[8] 

 

 

 

 

 

 

 

 

 

 

Award B1 for 18  

 

 

 

 

 

 

22 

 

 

       (a)      2l + 2b  

 

       (b)      l × b 

 

        (c)      56 – (2×16) 

                   24÷ 2 

                   = 12  

                 

 

B1 

 

B1 

 

M1 

M1 

A1 

 

[5] 
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(a)     2 100 ÷ 70 oe 

    30 × 12 

     = (E)360 

 

       (b) Divide the number of oranges 

(32) by the number of oranges in a packet 

to get the number of packets in 32 

oranges,  

then multiply the number of packets you 

get by E12 owe 

                                 

       (c)      (i)  SR and PQ 

        OR 

 PS and QR 

 

M1 

M1 

A1 

 

 

B1 

 

 

B1  

 

 

B1 

 

 

M1 for 30 seen 

M1 for multiplying by 12 
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                (ii)  Acute:  Angle  𝑆𝑃𝑄    OR           

                                    Angle 𝑄𝑅𝑆 

 

                       Obtuse: Angle 𝑃𝑄𝑅   OR       

                                    Angle 𝑃𝑆𝑅 

  

                

 

B1 

 

B1 

 

 [8] 

 

24 

 

(a)    Darrel 

 

 

(b)    297 

 

(c)     335 – 288  

    = 47 

 

(d)     335 + 335 + 335 + 335 oe 

    350 + 350 + 350 + 350  

    4 × 6    

     24 (minutes) 

 

B1 

 

 

B1 

 

M1 

A1 

 

 

M1 

M1 

M1 

A1 

 [8] 

 

 

 

 

 

In case of M0A0 award 

B1 for 5 seen 
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(a)     5.55     

 

(b)     
3

32
 

(c)       
5

6
 × 

1

4
  o.e 

            = 
5

24
 

       (d)    
810

3
      

                = 270  

       (e)    
10

100
× 90 

                = 9 

 

              

 

B1 

B1 

 

M1     

A1 

 

M1 

A1 

 

M1 

A1                         

 

             [8] 
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(a)     

3 

1 

4 

 

 

B1 

B1 

B1 
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© ECESWA 2025-2027 212/01/SP/25-27 [Turn Over 

2 

 

(b) (i)     Hleliwe 

 

(ii)     Multiply 2.3 by 100 

instead of 1 000 owe 

           

 

(c)   (50 - 24)÷ 13 

   2 × 1 000 

   2 000 ÷ 4 

   = 500  

 

B1 

 

B1   

   

 

B1 

    

       

 

M1 

M1 

M1 

A1     

 

 

            [10] 

 

 

 

 

 

 

 

 

 

 

 

 

(50 - 24) ÷ 4 

6.5 × 1 000 

6 500 ÷ 13 

 = 500  

In case of MOAO award 

B1 for 26 seen 
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(a)     Television 

 

(b)     380 

 

(c)      Iron 

(d)      700 + 560  

     = 1 260 

(e)     560 + 380 + 700 + 420 + 280 

+ 500 

 = 2 840 

 

B1 

 

B1 

 

B1 

 

M1 

A1 

 

M2 

 

A1 

 

             [8] 

 

 

 

 

 

 

 

 

 

 

 

B1 for correct three 

added 

 

 

 

 

 

 

 

28  

(a)      4     ,    3.25 

 

(b)     Changes from hundreds  

     To tenths  

 

(c)  Remains the same owe 

 

B1, B1 

 

B1 

B1 

 

B1 

 

 

[5] 

 

 

 


